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Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 1455898931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine

Chocolate is made from processed cocoa

5, Ltgets stuck in their mtestines



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 1455898932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces

Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 1455898933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 1455898934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statement about the passage
Options :

Chocolate has 11l effects

Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 1455898935 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste

simple

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 1455898936 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :
It is raining. aren’t it

1. %

, He said that he is ruined

You must work hard for success
3. %



It is smelling goodly

Question Number : 7 Question Id : 1455898937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct sentence

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 1455898938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. %



d1l. 4

d. all

the. an

the. a

Question Number : 9 Question Id : 1455898939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the



Question Number : 10 Question Id : 1455898940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at

to

with

upon

Question Number : 11 Question Id : 1455898941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.
Options :

of

1. %



towards

5]

for

about

Question Number : 12 Question Id : 1455898942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm



Question Number : 13 Question Id : 1455898943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’E(I
3.

came, see, conquer
4.

Question Number : 14 Question Id : 1455898944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 1455898945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy



to pacify
v

to refuse

Question Number : 16 Question Id : 1455898946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 1455898947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 1455898948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

VICIOUS

capacious



Question Number : 19 Question Id : 1455898949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 1455898950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 1455898951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 1455898952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 1455898953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.

Their wonder restrained a strange happening



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 1455898954 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon

He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 1455898955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589300

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 1455898956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The leadership in family planning — EXCELL awards 2022 in the country
category was received by :

DuBES S b of IS wG) -2022 S0 Deriiod® ReviHHH)B.

Options :

China

DI°

India

08d5e

Singapore

2036
3. #

Thailand

. (ajleselailotay

Question Number : 27 Question Id : 1455898957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The Indian Film personality of the year 2022 award at the 53% International film

festival of India (IFFI) was presented to :

535 88 wosmhah Sof AFGTe 6 woldhS $6) ST ¢F &

20D0 2022 e & (Sob P68 Hootlod.

Options :

1.



Rajinikanth

Bezdzoos
.
Late Puneeth Rajkumar
8a3Hen HIS oofSsrs
2. %
Konidela Chiranjeevi
H30 DBoLd)
3.¢
Amir Khan
o6 S
4. %

Question Number : 28 Question Id : 1455898958 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In India, eleven states account for 90 percent of the total number of operational
mines. Which of the following states are part of them?

8R40 st f}&)ﬁ@é&_ ando e éoqgéﬁ 90 =50 11 Eﬂt%aéﬁ SR,

wok$® £ Tpe:
A.  Andhra Pradesh
SolBHES
B. Bihar
555

C. Chattisgarh
S850E

D. Gujarat
Hhaora

E. Uttarakhand
sdoepod

Select the correct answer :
Options:

A.C & D only
.o AC&D &8

B & E only
B & E &85

A.C.D & E only
A.C.D&E &85

3. #®



A.B & C only

A B & C $r80
4. %

Question Number : 29 Question Id : 1455898959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following 1s ncorrect with regard to the National Green

Hydrogen Mission?

2805 (A8 PE=S 2ES % Somobod Spm skmdS Ty,

Options :

It was approved by the Union Cabinet in April 2023.
2023 2(DcHS &° 42D So|d BDIS ©ZrboDod.

1.9

It makes India a leading producer of green hydrogen in the world.

& o8 88840 (530808’ (A8 TE=S 48)86° (Hknp P8 $erd0d
2. %

It reduces dependence on imported fossil fuels.

AHod Ber nodd B wprddido éi‘igéﬁac&r

3. #

It attracts mvestment opportunities for the industry.

38 JBED B Dipgad vizre O W58 08,
4. %

Question Number : 30 Question Id : 1455898960 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
“Yaanam'’ is a science documentary of about 44 minutes. Which of the following

are correct about it?

28r% 44 Ao AdAte QEJ wépobd ‘dirlo’ ol JB@
a°5°§@5: ool

A, Yaanam 1s a first science non-feature film in Sanskrit.

o S0 8o & abnds JobAtd 2 FSh3s 29)

B. Itrecounts the story of India’s Chandrayan.

30 08afe YoBaeS ¥5% 30ahBgo.

C. It was screened at the 53" edition of the International Film Festival of
India (IFFT)
&I 53 § o A &0 (s0balr) IFFIE (HEg0ms.

Select the correct answere ;
Options :
A & B only
A & B Sr@D

1. %

A & C only

A & CERED
2.

C only

C S8
3. %



B & C only

, . B&C S8

Question Number : 31 Question Id : 1455898961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The total length of national highways (NH) in India , as on 30® November, 2022,
approximately, was : (in lakh kms)

30 $onb 2022 T88 EERIE IS TR0 Indo LY DI

(o8 8,306
Options :

1.45
1.+

Question Number : 32 Question Id : 1455898962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



March 2023, who among the following was elected as the Chief Mimister of
Tripura?
59), 2023 & (308 TOE (BHF Loggioo[® M ARYBawS T AS?

Options:

Manik Saha
SR8 oS

1.+

Manik Sarkar
S8 50@5

2. #

Biplab Kumar Deb

| D35 956 85

Dasarath Deb
. BI88 b

4. 3

Question Number : 33 Question Id : 1455898963 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In World women’s Boxing Championship 2023 who won the gold medal in

50 kg category.

2023 (0% &) 8ol oS &5 6° 50 3o SLASE womd) H8¥

D5

Options:



Lovlina Borgohain

QT B PS

1. %

Nikhat Zareen
Q& 285

2. %

Saweety Boora

., i:gﬁ 58

Nitu Ghangas

. Hb KorrD

Question Number : 34 Question Id : 1455898964 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following is wrongly paired regarding Nobel Prizes 2022.

SPond adons - 2022 % Honodod Spre awbd 28 fhgodod.

Options :

Physics — John . F. Clauser

F8E R0 - 2PI.29.5°R0

1. %

Chemistry — Alain Aspect
S Pahs FPo - @83 IS

2. %



Peace — Ales Bialiatski
FTOH - ©BH mdﬁ:aéﬁﬁ:&

3. %
Economics — Philip. H. Dybvig
i o =
i @88 TRo - HI3. o, &80

Question Number : 35 Question Id : 1455898965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the mcorrect pair regarding the Union Budget — 2023 from the following.

8B PG RS 252023 H Somofod 98 T a8 Jod¥

Sk,

Options :
Gobardhan - Waste to wealth plants

1 RP28688 - B’)éﬂgﬂ D008 HodS
. W

Amrit Dharohar — Optimal use of wet lands

oS $5°rE - Hred Jve B IHr SIBrADHS HE0
2. %

Unity mall — Centre for national integration

S S-S - wbch $D¥E Soo

3.



Saptarishi — Seven priorities of the Budget.

S5GR - 2ZEE° D (@I

%

Question Number : 36 Question Id : 1455898966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Whose writings influenced Karl Marx's dialectical metefrialism.

D56 88w w§ &rb) @w¥) AeEe)E F88 T (Berado Barow.
Options :

Ricardo

y=ito)
el

Hegel

Angels

D0OBSy
3. %

Lenin

SR
4. %

Question Number : 37 Question Id : 1455898967 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Identify the writer who won the Sahitya Akademi Award for Telugu Novel

‘Manodharma Paragam’ in 2022,

DY) Sotie’ o3 Benih Ko & 2022 6° SoEFIE wED BT

ol Sandd HhBosob.
Options :

Vadde Naveen

53 %55

1. %

Repaka Subhadra
- Barg 8

Madhuranthakam Narendra

Sooroso S80S

3. %

Chandra Latha

4, DO o

Question Number : 38 Question Id : 1455898968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

COP27 8 S&es0 & =8R0H.

Options:



Kuwait

©36

Sharm-el-Sheikh
AP -5 -28

2. %

Doha
&5 456

Beirut

H57e5

4, %

Question Number : 39 Question Id : 1455898969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which Harappan City recognized as UNESCO world Heritage site in 2021.

20218° O PaR) Shemo UNESCO (Fdoil 6y (Saom h8osadod.

Options :

Kalibangan

=l eleTot)

1. %

Dholavira

&ods
o

2.



Mohenjo Daro

2o2ros’ o6t
3. #

Lothal
S

Question Number : 40 Question Id : 1455898970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Every year world Press Freedom Day 1s celebrated on

58 Jodéybo (BHos HB 'i;sa’-a 6 EySo & Ber ebhdBoird.
Options :

31 May

> 3

1.9

3, April
56 3

13% May

= 13

13% April
NS 13
4. %



Teaching Aptitude

SectionId: 145589301
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 41 Question Id : 1455898971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the appropriate purpose of learning?
oFdto @ng) a’méséév%c AN &?

Options :

Modifications of behaviour

- BBGIS® 358ewen

Individual adjustment

458 Seren
2. %

Social and Political awareness

Fdred oradcdh ifdrEs



Development of life skills
& A
20N JDeTge @&)B’)q)%

4, %

Question Number : 42 Question Id : 1455898972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How can a teacher establish rapport with students?

SrERgint &Ugti@w &° $8%cn0tren Qe S'Jtijééags Beth?

Options :

Becoming a figure of authority

oS ‘?.';:Pﬁlgécnﬂ

Impressing students with knowledge and skills

D HOH FHeRws” domype HERE o Schob

Playing the role of a guide

S8 BEHIT P(F S0l

3. ¢

Becoming a friend to the student

D588 YIS Ko
4. %



Question Number : 43 Question Id : 1455898973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What are the essentials for the improvement of any skill?
S) E@e&g&@% FHOBEER BT ©XIEDRD d&?
Options :

Correctness & Speed

DB & Sefd

1. %

Accuracy & speed
. PSS & fotee!

Understanding & correctness

OBTES & DYHEE

Easy methods & speed
Do égé:m & Sfsw

Question Number : 44 Question Id : 1455898974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?
ABreTo TN FRHN8 (H0hoF S80S ofmo 267
Options :

1. %



Proper utilization of time

PO ‘é&ﬁ)cﬁrﬁ SBB&0

Continuity of class work

SE188 JIN E°XrhoHeD

Innovative ideas

Sr8S ©dGBnob
3. %

Thought provoking
o&°ST 440 DoroboHed

4.

Question Number : 45 Question Id : 1455898975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How education is useful in application towards daily life?

Qs £DB0S° Dy 2 DForr IAGREHBLSHH?
Options :

For logical thinking

FOE G} 6D

Social values
PAFLE Denden



Problem solving

SRRy SBES0
3.¢

Moral values

88 Denden
4, %

Question Number : 46 Question Id : 1455898976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is suggestible step for the improvement of a slow learner?
DoBFod BRI ©fHB FEH Trdodh rgo e ?
A 0

Options:

Remedial teaching

Daredes HES
1.¢

Re teaching

Dbz 58S

Group discussion

Porlrs S
3. %

Imposition

Heodrdy [FPohBdeo
4. %



Question Number : 47 Question Id : 1455898977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the output that we expect from the students through high percentage of
attendance
i) Pt ol S)Uisg 2006 2 A 2738 oferer BBosHd.

Options:

Mid day meals

Sogrssm s BeSso

Discipline

Edoages

Minimum levels of learning
SHREELAESES Rpowen

Homnesty

Daeonés

Question Number : 48 Question Id : 1455898978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which 1s the strategy goes perfect for the attainment of effective learning?
HoBodR oFd8 0w Eromreod & AP0 HEEHE?

Options :

On line oriented education

3 85 Sob%% 25

Learner centered education

ws Sold $S D

Teacher centered education

SaPTReh SolB%)S D

Play way education

.. sorwe SoB%E D

Question Number : 49 Question Id : 1455898979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Expand UPE as per article No-45 of Indian constitution?

P58 Tregoll ©fE8e0-45 (dsPdaw UPE 2380%08
Options :

Union Programme education

S5RSHS (RFIro EGEARS

1. %



Upper primary education

- o5 (Howndl BRSES

University programme education

d&::ﬂﬁ)é&%é Bro DBPBRS

3. ®

Universal primary education

|, SREES (Soiob 2eyBAS

Question Number : 50 Question Id : 1455898980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

“Jaya Jaya Priya Bharatha Janayiri...... Divyadhatri....” Who wrote this song?

b 20 Bad S 2Son(B...... HZTE ... S¥owd A5E?

Options :

Dasaradhi

PI0H

1. %

Devulapalli Krishna Sastry

- RISISEE) HY TR



Sree Sree

88

Aathreya

sBah
4. %

Botany

Section Id : 145589302
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 51 Question Id : 1455898981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Spirogyra belongs to this order

BT & (B5eI8 Bodds

Options :



Spirochaetales

EEES)

Zygnematales

ﬁﬁ&&é%

Spirogyrales
. BFESY
Ceramiales

LT EHS)

Question Number : 52 Question Id : 1455898982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The Chemical obtained from this algae is used in the preparation of explosives
& 3hodne Hod ckndd Srabiind (dwd émgéa:ea $5rbs°
NEPARE

Options :

Cyanophyceae



Xanthophyceae

wwcés'j'_q_ab
3. %

Chrysophyceae
» EE

Question Number : 53 Question Id : 1455898983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The organism causing blast of rice

©h Bben O EdAoD BDo(Esw
Options :

Puccinia graminis

350k (DT

Xanthomonas orvzae

PO IPTR BB

Pysricularia oryzae

2055805~ 2,88



Entyloma oryzae

NoBSLEr 2,02

Question Number : 54 Question Id : 1455898984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

According to Amsworth’s classification Rhizopus and Puccinia are grouped,
respectively under

Jon§EG 5586 F6sw, BEE Soct Shctre, & b Spod
S Soiul4D.

Options :

Zygomycotina and Myxomycetes

B 2SO LBk MEHDoherd

Basidiomycetes and Mastigomycotina

BLETrDHES Do RS S
2. %

Myxomycets and Ascomycotina

WEYDHET Sk v 8
3. %

Zygomycotina and Basidiomycotina

SRS B HB% BLEFrDE B

4. &



Question Number : 55 Question Id : 1455898985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Causative organism of citrus canker disease belongs to the germs
Iy K Brbeod SwwriSakn €9 & (Herad Joase.

Options :
Agrobacterium
o r880H D
1. % g

Pseudomonas

”.6555&153:“;3?5

Xanthomonas

s v EPOFIETR

Phytoplasma

Flr

4, @

Question Number : 56 Question Id : 1455898986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Detrimental effects of microorganisis in food include

388 é@ﬂgmés g dHe Seniinoin HFES Dprares® 38 dotnod.

Options :



Spoilage

PESB0

1.+

Fermentation

8eaS5

Change 1 flavor

506" S8y

Providing Protein

a’mc:ﬁée)@ﬂé: ol RSHES®

Question Number : 57 Question Id : 1455898987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Infectious protein particles are called
o) i=slel-] Srod¥)Hwo BenJod & dSone DR

Options :
Viriods
Slslestiasloy
1. %



Virians

S8aSeRoe
Prions
(DS

3. ¢
Viruses
SERe

Question Number : 58 Question Id : 1455898988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Protists are a diverse group of organisms that include
DPF) B8 £Hos €18 aol (P8RS 1 soiraw.
Options :
Plants

3}:%@__@

1. %

Protozoans

EretStare

2. &



Algae

IR0

Both protozoans and Algae

eSS ren DOk IBobnen

4. &

Question Number : 59 Question Id : 1455898989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
One of the following helps in the dispersal of spores in Bryophytes

& ($ob TBE (p@rptr e dbs mHE® Sr880d oy

Options :

Protonema

8P

Elaters

QBB



Flagella

g Jogeen

Question Number : 60 Question Id : 1455898990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Advanced type of sporophyte is present in
SB% a:g&acsm 6" &otnod.
Options :

Riccia

&%Jcﬁ:“

Marchantia

Sroe)oRes

Anthoceros

085500

Funaria

BRe e

Question Number : 61 Question Id : 1455898991 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
An example of fossil psilotopsida

REHTS® Borerdd 3d o8 eTeedm

Options :
Psilotum
LS
1. % =
Lepidodandron
D& Bo@S
2. %

Calamites

ELSVAS
3. %
Rhynia
Jspelov
4. &

Question Number : 62 Question Id : 1455898992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Macrophyllous leaves are present in
&s° "&g@ DB S0LTPow
Options :

1.



Psilopsida

PTENT®
Lycopsida
SNT®

2. %
Sphenopsida

L AN

Filicopsida
POTNT®
4.

Question Number : 63 Question Id : 1455898993 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following Geological times which one is the oldest?

& (300 PH Fodrsives® o8 FLSI6 26?

Options :

Devomnian

v BSPDcHS

Cretaceous

BBRHD

2. %



Carboniferous

Eocene

&R
4, %

Question Number : 64 Question Id : 1455898994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The type of embryo sac development in Gnerum 1s

QOSDER DOLEEE ©hK) E8k0

Options :
Monosporic

D2 DHosSS 8

1. %

Bisporic

8288 DS $%dw
2. % ¥

Tetrasporic

SESINRAES e EES
3. ¢ ¥



Aposporic
28 Dexdird S8

Question Number : 65 Question Id : 1455898995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A demerit in the classification of Bentham and Hooker is

BogrS HBckn Susbe $686m dprstn & ¥ ik

Options :

Division of Polypetalae into three series

PO RETBR Surdd (Fewvworr DgfRoisEdm

1. %
Placement of Gymnosperms
DS Dero 900 Pd
2.¢
Placement of Monocotyledons after Dicotyledons
DES¥ Dered xedare ShHard n EDoSS0
3. % @

Treating Ranales as Primitive

IS WBHDII KrBoSESD.

Question Number : 66 Question Id : 1455898996 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In ‘KEW" herbarium the specimens are arranged according to this system of
classification

% (KEW )rgeabind’ Sirmed & $056m dpsind «ikssod
X falalY

Options :

Linnean

DRSS

1.

Bentham and Hooker

- Zograd HoBaw 085

Hutchinson

FPAIDS

Engler and Prantl

Hoid oaiw ([Browd

Question Number : 67 Question Id : 1455898997 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Ruminate endosperm is a characteristic feature of this family

ErneS @céadiéncﬁm & Stnondw &mé& ] énaaé ©F £



Options :

Cucurbitaceae

588

Annonaceae

O3

Asclepiadaceae

BHHED

Asteraceae

TR
=]

Question Number : 68 Question Id : 1455898998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Amla, Bajra, Chrysanthemum, Coconut and Sun Flower belong to

28, Szer, 008, Ty oy FHBGING Indeo 828 3obSa.
Options :
Only one family

2.8 SHenoo



Two families

Bos Henomawen

Three families

RaTeds BatnonRnen

Four families

Trenid Bénonsnoen

Question Number : 69 Question Id : 1455898999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sholas are
SPeren @R

Options:

Mangrove Vegetation

Sro(firs RF SRmeahHsi

Mixed deciduous forests

a|FaD S%08 odden



Tropical forests

ééaﬂ}céﬂ D

Temperate forests

ﬁ&éé&é &

4,

Question Number : 70 Question Id : 1455899000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Maredumilli forest in Andhra Pradesh is an example of

SoF(PBS &° LB o8 B8 o8 s

Options :

Tropical scrub jungle

égéoctﬁ@ rden o o8

1. =

Temperate forest
- rééo-ﬁésié &5

Dry deciduous forest
3, S8 uHen ooy ®ED

Semi evergreen forest

PBE 568 05D



Question Number : 71 Question Id : 1455899001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Vascular bundles 1n a Dicot stem are
R~ Do sroddn &9 Tohme Seseoeren

Options :
Open, Collateral and exarch

DL, BIYy HBak0 TP LB

1. %

Closed, collateral and endarch

‘éc@é, ﬁé@@vﬁ_‘}g D8N wodYS (D wetEsw
2. #

Closed. collateral and exarch

"éca@é, ‘éé@v% 0850 w::g (DRED TeSEEw
3. %

Open, collateral and endarch

&’Daﬁe)é, :&a’:&vﬂ"ﬁ_&g 0BT WoSY (DR THHBS®
4.

Question Number : 72 Question Id : 1455899002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The primary meristem present at the bases of internodes and leaf sheaths i
o e0dod®h SH8ck S $yssne héerme 6% 6o (B Semposn
Options :
Promeristem

(PSS ey BeasPosio

Intercalary meristem

é:cﬁé‘g dereyy SasPedn

I ateral meristem

Y)Y Dgrey Seaerosn

Apical meristem

o Jgreyy SeoPeRn

Question Number : 73 Question Id : 1455899003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The presence of double fertilization (triple fusion) was discovered by

BrsoBEsntn (BYo@rtin) EhY) 4080 LHMHE

Options :

1. %



Hofimeister

D Fond
Nawaschin
- BaedhS
[Leeuwenhoek
%353’5%5
3. ®
Strasburger
G
LB 3 0

Question Number : 74 Question Id : 1455899004 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The production of a gametophyte directly from the sporophyte without meiosis is
called

0@l Destiiin $obsbem dees Sdhome s Datsiin Go8 Sm Dy
dpstnd & D HHeRE.

Options :
Apogamy

SoGm ToerEso



Apospory

gD esoerdssn
o o
Apomixis
BIOETH0
3. %
Parthenogenesis
o nZPSdsn

Question Number : 75 Question Id : 1455899005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Maturation of stamens and pistil at different times in the same flower is called as
28 HF)o &% Steer Bk ©odE i M) Hdhabimes® SE8 Bodwd

ZE° DR
Options :

Dichogamy

O HEees
. 5;326&_5“ I8y

Herkogamy

. éé&ﬁéé LoD



Heterostyly
ALY ISR

Unisexuality

f&é@cﬁéé&é&:
4, %

Question Number : 76 Question Id : 1455899006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following correctly indicate only abiotic environmental factors?

& (Bob 86" QD ALY H8Tre TBEmeH e SrOPw?
Options:

Soil minerals, Oxygen level and predators

IBE plzren, vH=dh Iy r:g;oa: 850 DEFHen

Food, Parasites, predators and competitors

835, SoeiEdHen, S8FHen o Pl

Food. temperature, fire and wind

9588 50, -QEEQ%@, By Hobdkn md



Soil minerals. wind. temperature and light

£BE plres, Y, 48°ELS HBH o8

Question Number : 77 Question Id : 1455899007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
During megasporogenesis the gametophytic phase starts from this cell

Az 08 Des snd® So@rd Dutl ¥ & Smdn ob FofiHhos.

Options :
Megaspore mother cell

Sro 28 De Srd)Sesn
@ @

Megaspore
Sre 98 Dedw
@ @

Sporogenous cell

g Desesd 8 eadn

Archesporial cell

585 HroHid Sesso

Question Number : 78 Question Id : 1455899008 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

According to the law of Tolerance, the growth of a species 1s limited by this
environmental factor

aFR 38 ?oagcéaﬁn P88, of =8 Saaégr hihde & J65oe FEESy 38
Sy Dhntod.

Options:

For which the organism has widest range of tolerance

SEB £ 5HE H0pS° JH;BEE D ZOA Sotwol”

1. %

Which is in minimum available quantity

AToE SN HoFreadn & meﬁg&a’gé"wcﬁg

2. #

Which is abundantly available

IB8 0SSO 0gHDHHE’

For which the organism has the narrowest range of tolerance

GE8 £ 08 SK)S H058° JH,BILY S0A sotwol’

Question Number : 79 Question Id : 1455899009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following is not a part of ex-situ conservation?

& (8o &S éd@;ﬁ]dﬁ: Bo88es® rrsn AB8?



Options :

Wild life sanctuary

$8y 5 wFcsrBme

1.4

Tissue culture repository

|, Smero 558 JgS0R

Botanical garden

| BETES smsssioe

Field gene bank

gtﬁ 225 22508

Question Number : 80 Question Id : 1455899010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Preserving germplasm at extremely low temperature 1s called

£5 émgzﬁm’w ooy sfid I8 B0 dsod s sk,

Options :
Cryopreservation
oddde HES

1.+



In-Situ preservation

R’:}&ﬁvﬁcﬁ: Soises
@ el

.
Cold storage
2o Agon
3. ®
Herbarium
3G 0cHo
4, @

Question Number : 81 Question Id : 1455899011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Sugar moves in phloem elements as
RS Bovere Hareddned® $5)8 & o Sendod.

Options:

Starch

ﬁsc&émﬂg‘nﬁn

1. %

Cellulose

engs°E
2. #



Glucose

Krss
3. %

Sucrose

oSS
4.9

Question Number : 82 Question Id : 1455899012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The movement of ions across membranes against concentration gradient utilizes
4 (B8 © H8drodam, Sirod odim adih odrs JodchiEn &R

ANTEAD&0B.

Options :
Proteins
‘n‘&:ﬂc;ﬁ%@m
1. %
Lipids
O&en
2. %
ATP
&
3. ¢



Iron

Question Number : 83 Question Id : 1455899013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following processes utilizes molecular O,
& (80b DBche &° wmdrd 882 NIBFADHIE 26?7

Options :
Glvolysis
3OV

Citric acid cycle

B Sochsn

Ethanol formation

B8>S Scbird

Electron transfer

aaa[%E Soew

Question Number : 84 Question Id : 1455899014 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Essential elements are
@3’3'3:5 Suresren ST

Options :

Required only in those processes leading to increased growth

5B 203 B $820H (BB’ ErED eIRH .
1. %

Not directly involved in metabolism

£58cH & (Desgorr FE LD
2. &%

Not replaceable by other elements

288 Swreline e PHFodin BH2ESAID

3. %

Not required for normal reproduction

Fr8es (DSB8 &° ©BIELNBID

4. %

Question Number : 85 Question Id : 1455899015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following reaction of the Calvin cycle was both NADPH and ATP?
SIS Hodhin Twd) & (3ob @ (¥8 38:6° NADPH ok

ATP &3&rhosd adaean

Options:

1. %



Phospho glyceraldehyde — Fructose phosphate

FF) DSl — (PEE FPS

Phospho glyceraldehyde — Ribulose biphosphate

) ASTPQ R — BagS S B YPS
®

2.

Phospho glyceraldehyde — Phospho glyceric acid
@Dﬁi} Qém@?& ﬁ@ﬂﬁb AX08 ey

3. #®

Phospho glyceric acid — Phospho glyceraldehyde

PR 1568 wpn — RS ASTOIRE

4.+

Question Number : 86 Question Id : 1455899016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What will happen to the rate of photosynthesis if Sodium bicarbonate is added in
the water having Hydrilla plant in a beaker?

B 3ud &%) D5 % DAL FBHD BTRGH Sendh S8 Lomaty
So@ri [Beh Stidn Aodos?

Options :

It will be decreased

©d eﬁgciﬁ'mfﬁaéac&-

1. %



It will remain normal

©8 Jogeses é&%@ésﬂ S0ENoB.
2. %

It will be stopped
©b d3cH 2H&Hod

3. #

It will be accelerated

©d DodnLehob.
4.

Question Number : 87 Question Id : 1455899017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Legume root nodules contain leghaemoglobin. Its function is to regulate

BiirsD 36 B8 BhtrIrRAS sotod. A B BV AdkoBoe
Options:

Nodule growth

& NG
1. % GJB @
Oxygen supply

oS 8T
2. ¢

Expression of nif genes

nif ﬁ&é@ﬂ BELH



Dinitrogenose activity

SIE°=IE (BaSrSEs

4, @

Question Number : 88 Question Id : 1455899018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Each p—oxidation cycle vields

58 p-wdEdn Sochdn dBI%08.

Options :

1FADH,, INADH, 1 Acetyl CoA

2 FADH,, INADH, 1 Acetyl CoA

2. %
, 1FADH,, 2 NADH, 1 Acetyl CoA

.
1FADH,. 2 NADH, 2 Acetyl CoA

4. %

Question Number : 89 Question Id : 1455899019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The phytohormone that 1s used to break dormancy 1s
‘é:é_géﬁ@n“s} Do SIBrR0T ;3655 ?’JBSEéE
Options:
Abscisic acid

©HHDE e

1. &
Gibberellic acid
23005 wspsw
2.
Cytokinim
2833
3. ®
Auxin
&\
4, % - ’D

Question Number : 90 Question Id : 1455899020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Auxin promotes growth by
@83 & dForr 8 S0k,
Options :

1. %



Causing stem elongation due to more cell divisions

0¥ S P=te WIT° oy ¥ Q?é Eﬁa%% o800

Enhancing the uptake of water and minerals

Hd Hbcbn Pere f:‘géiﬁm ©oEdn Ik

Increasing the rate of photosynthesis

88eaesily DSo@ri(Bch Eo¥) Ik Dodhe

Increasing the plasticity of cell walls

ézaé:égn"mﬂ cﬁné& ERIXD oo

Question Number : 91 Question Id : 1455899021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Lignin is the main component of
O &85 Soog)y ©peEHD
Options :
Primary cell wall

(PHW0E BeaBHSdw

1. %

Secondary cell wall

Bobics Seadsin
2. %



Tertiary cell wall

ée)iédi:: Beaadedsion

Endoplasmic reticulam

@céé X (Bgeresn

Question Number : 92 Question Id : 1455899022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Nucleosome is a part of

$raIrRFD B Rw¥) o8 Ko
Options :

Ribosomal fraction

BEPD Bwd) ¥

Nuclear membrane

So|88 o

Nucleolus

So|f=ro¥dn



Chromatin

ER

Question Number : 93 Question Id : 1455899023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Solenoid 1s
POTPonE o%ds

Options :

Relaxed state of chromatin

EEr8S Bo%) D(Fo8 8

1. %

Highly condensed arrangement of nucleosomes

S8 Brioe Gnd) whEdormr HA0DNES ©hdd

2. %

Basic unit of chromosome

| E D G S0 (B

Smallest unit within nucleosome

- $r83rS &0 ©8 A% (Db

Question Number : 94 Question Id : 1455899024 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Balbiani rings are present in this

e Sechdnen HAsS® EQDIow.

Options :

Polytine chromosomes

FHES S Hen

Lampbrush chromosomes

oD (@R (E 3Rt Sow

2. %
B-Chromosomes
B-8°3rfSow
3. ®
A-Chromosomes
, A{E° 3PS
-1

Question Number : 95 Question Id : 1455899025 Display Question Number : Yes Is Question
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Time: 0

Law of seggregation of gametes was first proposed by

So&rt Hesoe QYRGB Wposaad Snden (RSFBoVRG
Options :

1. %



Hugo de Vries

S BES
Mendel
SooddS
2. %
Huxley

3. % éﬁgshb
Robert Hooke
oez2b 508

4. % &

Question Number : 96 Question Id : 1455899026 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The Quiescent centre concept was developed by
D Bol DrodLnd 0B SIS oRQezte.
@ = =
Options :

Schmidt

1. % &gés

Popham
T



Clowes

i=n
- 2%
Esau
&P
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Question Number : 97 Question Id : 1455899027 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The DNA sequence i an operon where RNA polymerase binds to initiate
transcription is called

o Bpddnd (Fr8cdoidtrd o HISE RNA FOIVE 0SS
DNA [$5rioarsinid & dFom ’A’Jw@jﬁ}.

Options :

Operator
RTINS

[nitiator

2R THe6

Promoter

(B3red

3.¢



Repressor

8235

Question Number : 98 Question Id : 1455899028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Okazaki fragments are short strands synthesized by a specific RNA polymerase
called

248 S, & (5% RNA HOBBE 38 Sodhod obs &8 Pie

Options :
Protease
DEHSE

1. %

Ligase
SnE

2. % =
Primase
DE

3.9 L'_
Topioisomerase

SaZr oBTE

Question Number : 99 Question Id : 1455899029 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The common breeding method used in sugarcane is

BHHE" WBrhoDh PP (SadS 358

Options :

Mass selection

DT 2BEINN

Pure-line selection

-e’.::ag Nod(Ead DBeasn

Heterosis breeding

D088 (Hesdidsn

Clonal selection

Fheo Sdesm

Question Number : 100 Question Id : 1455899030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Triticale is a man-made cereal obtained through hybridization between

BBES ©dkd SrdS-8a5e6 e ©fodd a8 dm R

Options:

1. =



Wheat and Rice
R0 Hobcdn 58

‘Wheat and oat

5505 Sk .8

Wheat and finger millet

L, B Sobcko ooiben

Wheat and Rye

AEosh HoBasn B
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Question Number : 101 Question Id : 1455899031 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The structure that 1s formed in the egg of frog opposite to the point of sperm entry
$3) eotiiiy & D oo (38 A8 A 2 Aoesitn Ky,

Options :
Corona radiate

D8Bes sHodesdn

Gl'E‘}' crescent

&S 80M Ho8

Mouth
3. ® ‘58&’

Neuropore

& Sosw

Question Number : 102 Question Id : 1455899032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The antibody responsible for allergy
@@é % o808 (D8BTS

Options :

Ig A

1.



2. #
- IgE
4, % IgG

Question Number : 103 Question Id : 1455899033 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Pseudopodia of Elphidium are

aﬁ%cﬂcﬁao & TG aPTED
Options :
Actinopodia

Eﬁ%ﬁeé’ﬁ&dﬁn

1. %

Myxopodia

aﬁ‘g@ﬂ&cﬁ:ﬂ

Filopodia
Eé‘géﬁﬁdﬂ:ﬂ

Lobopodia
S S FPBE s



Question Number : 104 Question Id : 1455899034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Stomachord 1s characteristic of

@éﬁ?@@ & e%ekn
Options :

Balanoglossuis

BoS oS
1.+ i

Palaemon

FOSES
2. %

Hirudinaria

FoletYatsolover
3. #
Holothuria
4w _é:ﬂmésqﬁaﬂ&cﬁﬁ:ﬂ

Question Number : 105 Question Id : 1455899035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The major site for lipid synthesis in an eukaryotic cell

KnBOSFBE Sesind® DG SoFhmdn abhih (HBE50



Options :

Rough Endoplasmic Reticulum

HoH @céésﬁ (B8 2reBln0

1. %

Smooth Endoplasonic Reticulum

20%H @cééa’s B8y sredso

Mitochondria

D& ro@asr

Nucleus

So(5Esm

Question Number : 106 Question Id : 1455899036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Brunner'’s glands secrete

@55 Koen &Y BRosHsron

Options:
Mucus
a"nrééﬁ

1.4



Hydrochloric acid

RE°EEE eddm

Lysozyme
SRS

Ptyalin

&ArOS

Question Number : 107 Question Id : 1455899037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In human body, HIV attacks mainly the following

Sr8HR BFSwE® HIV (Sordomr & (808 8D ood D08,

Options :
T.- cells

- T. - Sezren
Ty - cells
Ty -BePen

2. %



B — cells

B - Segren

NK — cells
NK - Begeen

Question Number : 108 Question Id : 1455899038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Botryoidal tissue is found in the body cavity of
FeranddS S rodn & 68 HF8ins® EJn008.

Options :
Sycon

RS

Fasciola

FPOTTee

Hirudinana

288385

Asterias

SIS



Question Number : 109 Question Id : 1455899039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Larva of hemichordates

E:Fﬁbz-:-ﬂéé% Bo¥) Sogf¥o

Options :

Bipinnaria

@&3&&05:0

Tornaria

@3&&@

Auricularia

SEEIG

Veliger

30226

Question Number : 110 Question Id : 1455899040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Protein factories of a cell

S0 Gof) BEES 80 o



Options :

Ribosomes

3& B S0en

1. %

Lysosomes

SR8 S0en

Mitochondria

& o|@cse

Chloroplasts
SE2g

Question Number : 111 Question Id : 1455899041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Right side shift of Oxygen haemoglobin dissociation are taken place during

SEVEN &3?&‘;535 D&red Ty HB 39 28iio & 500508 =hthos.
Options :

Low pH, Low CO-, high temperature
S)X pH , 8535 CO,, 8 é@@‘ié

1. %



High pH. High CO,. high temperature
Q&S pH , S CO,, 8N SsPHE

High pH, low CO;, low temperature

ES pH , 55 COy, EXS &SNS
3. %

Low pH, high CO,, high temperature
S5 pH 55 CO,, 80 asPies

4. &

Question Number : 112 Question Id : 1455899042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
I[dentify the toxoid vaccine from the following

&(8od T8 & ersmond T§SH HioSod

Options :

Anthrax vaccine

- @D{;E“ga 30%5

Smallpox vaccine

HoErD TS
2. %



Typhoid vaccine
Barond 78S

Rabies vaccine

IR T8\

Question Number : 113 Question Id : 1455899043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Symmetry of echinoderm larvae is

a@ﬁgcﬁfﬁé &oizre ﬁ"‘ﬁé&"séﬁ

Options :
Radial
- BEc%S
. e
Biradial
) BEAHS
2. %
Bilateral
3 B8S
3. %

Penta radial

2ot B5HS



Question Number : 114 Question Id : 1455899044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Placoid scales are found is
Fond Pevden HIS® EIDPow

Options :

Osteichthyes

@%E &%

Gymnophiona

23T PAEPT

Cephalo chordata

296" =P

Chondrichthys

SEI

Question Number : 115 Question Id : 1455899045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Both 70s and 80s ribosomes are present in
70s $0cin 80 s TERELwen Bodkr BIS® sod.

Options :

Mitochondria

D& o @cse

Chloroplast
e

Prokaryotic cell

(BrS"oRBrEE Heashw

Eukaryotic cell

5026 BrAE Leasdo

Question Number : 116 Question Id : 1455899046 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In human heart, mitral valve guards the

SUSES TIPS Tl et v &° W©S Eareodin &Y Iorsnes.

Options :

Opening of post caval vein into right auricle

28 DS 18 Hé 888 &° BEHBTKFp

1.



Left auriculo ventricular aperture

Do $pse-e805 Bon HE

Right auriculo ventricular aperture

%8 gose-a8es Sogin 5%

Opening of pulmonary veins into left auricle

DIJ VBen &R B &° BLHBETKJpo

Question Number : 117 Question Id : 1455899047 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the best method for checking mycoplasma contamination in mammalian
cell culture?

S8 4 SoS8ite & TS T ) Toobb SN S48

Options :
Southern blotting

$885 epBoh

ELISA



PCR

Western blotting

i 3[&:}5 Hoh

Question Number : 118 Question Id : 1455899048 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Glass-rope sponge 1s

& =
TR-6'% o
Options :

Euplectella
o nder
gy ™

Hyvalonema

Se0H & e

Spongilla

FeRex

Chalina

$o



Question Number : 119 Question Id : 1455899049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Claspers are found in
$038) Botrdtwe &S EIBoBH

Options :

Male frogs

&r‘iéﬁam

Female Sharks

o arb)

Male sharks

Sotf b))

Female frogs

&8s ééﬂj@a

. ®

Question Number : 120 Question Id : 1455899050 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Mendelian dihybrid cross phenotypic ratio
DoBDNS BINH0EY [odW) ) B8 Y

Options :

g3 3]
1. %

Question Number : 121 Question Id : 1455899051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The process by which spermatozoa acquire the ability to fertilize the ova 1s known
as

$Sndn vodined Subddntn Sk ﬂvéagssﬁw& SoarBoHTR (8
JDOEP,

Options :

Spermiation

" ?aoj&ﬁ‘ﬁﬁ

1.



Spermiogenesis

P& BINS

Oviposition

©0od J5Headw
3. %

Capacitation

&8z HBHe
4. &

Question Number : 122 Question Id : 1455899052 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
This part of mammalian nephron 1s impermeable the water.
i
Ezre Jgrd & & o D8 (HIB0s5dek

Options :

Proximal convulted tube

8y DoRdE TeE

Descending limb of Loop of Henle

2R BEEn Gl ©IETTB oo

Distal convulted tube

Sroell S0398 LY



Ascending Limb of Loop of Henle

2] 25En T SESD e

4. &

Question Number : 123 Question Id : 1455899053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The milk produced by the transgenic cow named as Rosie, 1s enriched with the
followmg protemn

& D o ey $78)8 € 483 T3 Fod® & Bod FET SdesHom
608008,
Options :
Alpha lactalbumin

- S @sguga’bﬁ

Beta lactalbumin

Her erzren DS
2. % ﬂ%
Alpha 1-antitrypsin
sem 1 - Dod @S
3. % % L V

Insulin

55998



Question Number : 124 Question Id : 1455899054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Antennae are ahseut iIl

QYFomren EQE° S52028D
Options:

Crustaceans

EHRDS)

Arachnids

QT8 \G)

Insects

&ergtooen

Chiolopods
TS PG

Question Number : 125 Question Id : 1455899055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Reptiles with 10 pairs of Cranial nerves

38 =de Sare e &° LOAS ‘éé‘%@?m



Options :

Crocodiles

52,
1. %

[Lizards
g x POREES

Tortoises

éﬁﬂ“mﬁg
3. % &

Snakes
4V aPsen

Question Number : 126 Question Id : 1455899056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

According to the genic balance theory, the Drosophila having Karyotype

AATXXXY 18

wife® Spodin (i, 306G 85 AATXXXY 3088 (EWFder

Options :
Female
e

1. %



Male
o%Te

Meta male

- Soér il
3. #
Meta female
ot 88
4,

Question Number : 127 Question Id : 1455899057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the membrane potential of a nerve fibre 1s more negative than the resting
potential, the condition 1s called.

b Sodih Bwé) K55Gk Jovih ¥ S P o 3 00
ed1bo0d, © 87 AhAbesRS.
M Q =
Options :

Polarisation

SPBEARS
1. % L

Depolarisation

8 ﬁﬁﬂgéaﬁﬁ

2. &



Repolarisation

& SPBEIS

Hyperpolarisation

—i s é.vr
Ly 2P0 PeBRAS

Question Number : 128 Question Id : 1455899058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The first human hormone produced by recombinant DNA technology is

8xcf)3of DNA Bmped 8 af)8 D08 k8 &=kl FoYk

Options :

Insulin

- aﬁ;g&%

Thyroxine

S

2.

Pro gesterone

ErEHo°S

Glucagon

58S



Question Number : 129 Question Id : 1455899059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Myxonephridia are found in
DEIS B HIS® E3DR08.
Options :
Arenicola

w3 ew

Hirudinaria

283805

Nereis

585

Phyllodoce

HEED

Question Number : 130 Question Id : 1455899060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Unpaired air sac associated with the lungs of birds is

Lo 08K & Jomodo DAY 280 ASnRtH
Options :

Cervical air sac

1 LI_%ES oD
.
Interclavicular air sac
wosg (s PASnR’D
2. =
Abdomuinal air sac
- &8 PSR D
Thoracic air sac
4 &8° RS

Question Number : 131 Question Id : 1455899061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The process of formation of mRNA from DNA is called

DNA £09 mRNA 28 (HBchds & dore Deoskdh.

Options:

Translation

oHHEHED

1. %



Termination

@oé§§6 €9

Elongation

[oles1eTn1S

Transcription

©20BSSE»

Question Number : 132 Question Id : 1455899062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The region in between two successive 2-lines of myofibril is called

&rg $ok8 dodd @) Both HS 2-Nide Doy (FozeR) A e,

Options :
Sarcomere
B HE
1.¢
Sarcoplasm
S



Sarcosome

FEHRES:

Sarcoplasmic reticulum

- FBTE DBHeD

Question Number : 133 Question Id : 1455899063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Very low amounts of DNA can be detected by this procedure
©8 $5)5 e &) DNA D & 388 oo Hors.
q_‘} —

Options :

ELISA
PCR

Immuno electrophoresis

- singS Qo 5

3.

RIA

Question Number : 134 Question Id : 1455899064 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Bats are mcluded in the order

Keren & E06® Somb.

Options :
Rodentia
E’i“aﬁﬂdﬁr

1. =
(Cetacea
5 8505

2. ®
Carnivora

3.8 Eﬂa&
Chiroptera
Elegilel

4.9 ®

Question Number : 135 Question Id : 1455899065 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A chromosome aberration leads to change in the order of genes in a genetic map
but does not alter its linkage groups. This is due to one of the following processes

FarS 6 ey Srdpen wily Dgrdto 6 abygied) gD &
o808, TR Sl St Bk, 8 & (3ob F86° B
B Ses atorbiod.

Options :
Translocation

BB

1. %

Re combination

IS Ta o bt PN
2. %
Transformation
Frodbcthdn
3. #® &
[nversion
v LTV

Question Number : 136 Question Id : 1455899066 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The part of adrenal gland secretes glucocorticoids

S BLS (Kod &°Q & FKEn KrSsgrahf) B (Ba%08.

Options :



Zona glomerulosa

S FItre>
1. =
Zona pellucida
£ Depgdee
2. &
Zona reticularis
1=
- £ BHERPED
Zona fasciculata
> @vﬁz&éé@
4.

Question Number : 137 Question Id : 1455899067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The first gene therapy was given to treat the following disease

£S5 365 (Do & (Bod b D8%B cwTh.
Options :

Small pox

08P

Polio

, . o3



Hepatitis
SPrBBD

3. ®

, » SCID

Question Number : 138 Question Id : 1455899068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An example for Urodela

Er8ler & smrirden
Options :

Ichthyophis
SEIS )

Necturus

ST 1S)
&

Alytis

DBES

Rana

or®



Question Number : 139 Question Id : 1455899069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The variations in the beaks of finches that Darwin found in Galapagos island is a
clear indication of the following evolutionary process.

o MOHRD Eséo“m & $0S) dop Snde 30gm & (Bob Hoerid
RBod % @é@_ﬁ b
Options :
Parallel adaptation

Dol ediirotsn

Convergent evolution

©dJ8es Do

Adaptive radiation

sBcnE DBBe

Adaptive convergence

60508 @ Geaso

Question Number : 140 Question Id : 1455899070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Nucleoproteins are
S8 & (PAF) 03D
Options :
Simple proteins

Ferse (A

1. %

Conjugated proteins

Sockor) (REEF

2. ¥

Derived proteins

L, O6% BFES

Globular proteins

magers (BPOF)

4.

Question Number : 141 Question Id : 1455899071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The following antibodies can cross through placenta and enter the foetal blood
circulation from mother

& (800 (PEESe 39 Kol e kR (gre 8 (558 RS
338308,
Options :

1. %



Iz G
2. ¢
Ig A
3. %
Ig D
4. %

Question Number : 142 Question Id : 1455899072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The type of Vertebrae present in modern birds
88 SHeo & O 5B 3% dotron

Options :

Procoelous

H8He

1. %

Amphicoelous

| edbiigse



Acoelous

| 8 g

Heterocoelous

DA Ko

Question Number : 143 Question Id : 1455899073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Inheritance of acquired characters was explained by

@%é P @H0N0358 DS8oY %

Options:

August Weisman

a8D HHE»S
1. % ”

Charles Darwin

PP WO
2. %

Hugo de Vries

=

- Soi® & (D%

Jean Baptiste de Lamarck

£3 L & o)
4 S



Question Number : 144 Question Id : 1455899074 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Formation of glucose from non carbohydrates is
557G 0 8 Hood KrER AELrd) Dotrdo.
Options:

Glycogenolysis

B RS85

Glycogenesis

AS"EIND

Gluconeogenesis

KrSPA@RrEIDD

Glycolysis

[P0V
4. %

Question Number : 145 Question Id : 1455899075 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Tunicin of tunicates is similar to

&S &) LRI & O sotwod.

Options:
Chitin
PO
1. % =
Fibroin
D(ePows
2. #
Cellulose
?\:wéégé
3.
Keratin
B8
4, %

Question Number : 146 Question Id : 1455899076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following 1s not a Vestigial organ in man?

SrEHD & 0HTPBHd0 TAB & (2od TES® 28?
Options:

Vermiform appendix

. 38)5°5) 2085



Plica semilunaris

RT° VDOTFER
2. %

Ear muscels

ey BoBdsmen

3. ®

Epiglottis

ADTPET

Question Number : 147 Question Id : 1455899077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Eggs of insects belong to
Leyzpen wobnen B8 BodSD
Options :
Microlecithal type

gzl HeE 8850

1. %

Centrolecithal type

5
S v 208 88 BB

Telolecithal Type
(! 588 8w

3. ®



Merolecithal type
vyl Hets 88w

4, %

Question Number : 148 Question Id : 1455899078 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of gill pouches in Lamprey

oo & AR S Eapen soraw

Options :
4 pairs
4 236500
1. &
5 Pairs
5 s=2¢ew
2. %
6 Pairs
6 2265e0
3.
7 pairs
7 2:88e0
4. &

Question Number : 149 Question Id : 1455899079 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Haemolytic anaemia and Jaundice are the symptoms in babies born to these
parens

& $9dolhe % HAS bgo & AEEE e 8k wolf efres
GO0,

Options:

Rh™ father. Rh™ mother
Rh* &o(&. Rh 8

R father. Rhhv™ mother

Rh™ #o(& . Rh* &8

RI™ father. Rh™ mother

Rh* &o(&. Rh* #9

R father, Rh™ mother

Rh" $o(&. Rh 88

Question Number : 150 Question Id : 1455899080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

One of the following enzyme dissolves zona pellucida

& (800 &S D QoED £ Deodre D $6AR0A.



Options :

Hyaluronidase
1 SechHenB®ARE
4
Lipase
Sd
2.%
Amylase
SRVGES
3. %
Acrosin
JE*DS
4.+



